Cumulative Algebra Review- Chapter 09B

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.
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2. If 
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(A) 0.25          (B) 1.04          (C) 1.09

(D) 2.83          (E) 3.00

3. What is the length of the major axis of the ellipse given by the equation 
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(A) 3.2

(B) 4.5

(C) 8.9

(D) 10.0

(E) 20.0

4. If 
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, then what is the greatest possible distance between points at which the graph of 
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 intersects the x-axis?
(A) 0.14
(B) 0.28
(C) 0.36
(D) 0.42
(E) 0.72
5. 
Which of the following expresses the range of values of 
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

Old McDonald has a garden enclosed by a triangular fence of 40 feet on each side. The garden is surrounded by a field of grass.

a. His goat, Billy, is tethered outside the garden on a 30 foot chain attached to a corner of the fence. Draw a figure that represents the grazing region and label appropriate angles and lengths. Find the area of the grazing region. Show work that leads to your answer.

b. Suppose instead that the chain is attached to the midpoint of a side of the fence. Draw a figure that represents the grazing region and label appropriate angles and lengths. Find the area of the grazing region. Show the work that leads to your answer.
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